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322000000000000D000O0O000OO0O0DOOOODOOODO
00000000000 0DO0O00b00O000D0O000 “leldat” 000
00000 “ilel.dat” OO

oooob xO0 yoO z0OO

ooooogob wcooooobobooooboon

1 #include <stdio.h>
2 #include <math.h>
3 #define N 26311 // filel.dat 0O 0O

int main()
{

int i;

float E_total, E;

float edep[N], x[N], y[N], z[N], R[N];
10 float RM;

© 00 N O Ut

12 // 000000000000 0O0O

13 FILE «fp = fopen("filel.dat", "r");

14 for(i=0; i<N; i++)

15 fscanf(fp, "hE %t hELAE", &edep[i], &x[i], &yl[i], &z[i]);
16 fclose(fp);

18 //ROOO
19 for(i=0; i<N; i++)
20 Rli]=sqrt(x[i]«x[i]+z[i]+z[i]); // 000 (yO)ODOOOO

22 // 000

23 E_total = 0.0;
24 E = 0.0;

25  RM = 0.0;

27 // 00000000COOOOCOO0O
28 for(i=0; i<N; i++)
29 E_total += edep]i];

31 while(E/E_total < 0.9) // 90%000000000

32 {

33 for(i=0; i<N; i++)

34 if((R[i] >= RM) && (R[i] < RM+0.1))

35 E+=-edepli]; // D00 (yO)ODOOOUOOOOODOOOODODOOOOOO
36 RM += 0.1;

37}
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39 printf("RM = %f\n", RM);
40 return 0;
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0.0 0.0 0.0 0.0

ooo000oOOdooOO0oD0oOo0oDUooooDooDoonD “iled.dat”
gooooooo

1 #include <stdio.h>

2 F#include <math.h>

3 #define EVENT 1000 // 00000

4

5 // 000 (x1,y1,z0) 0000000000 (x2,y2,z2)0000000000000000A0
6 float nasukaku(float x1, float y1, float z1, float x2, float y2, float z2)

7{

8  float theta;

9  theta = acos((x1*x2+ylxy2+42z1x22)/(sqrt((x1xx1+ylxyl+zlzl)(x2xx2+y2%y2+22%22))));

// 2000000000

10  return theta;

11}

12

13 int main()

14 {

15 int i, j, KEEVENT];

16 float x[EVENT][1000], y[EVENT][1000], zlEVENT][1000], edep[EVENT][1000];

17 float x11[EVENT][1000], y11[EVENT][1000], z11[EVENT][1000], y21[EVENT][1000];
18 float x12[EVENT][1000], y12[EVENT][1000], z12[EVENT][1000], y22[EVENT][1000];
19  float thetal, phil, theta2, phi2;
20  float thetalO, philO, theta20, phi20;
21 float E1, E2, E10, E20;
22  float theta, M2, M;
23 float pi, R, delta;
24
25  pi=3.141592; // OO O™
26 R=500;// E1, E2000000000000000 5cm
27 delta = 0.005; // 6 PO OO0DOOOODOOO
28
29 // 00000000000 000
30  FILE #fpl = fopen("file2.dat", "z");

27



31
32 // 00000000000
33  FILE xfp2 = fopen("file3.dat", "wt");

34
35 i=0;
36 =0
37

33 (// 000000000000000000O00
39 //j00000000i000000000000000

10  while(j < EVENT)

41

42 fscanf(fpl, "%E hE %t %", &edep[j][i], &x[j][i], &y[j][i], &=[i][i]);

43 if((edeplj][i]==0.0) && (x[j][i]==0.0) && (y[j][i]==0.0) && (z[j][i]==0.0))
44

45 k[j] = i;
46 j++;
47 i=0;
48 }

49 else

50 e
51}

52 fclose(fpl);

53

54  for(j=0; j<<EVENT; j++)
55 |

56 E1 = 0.0;
57

58 // 6 ,0000000000000CCCCOOOOOO
59 for(thetal0=0.0; thetalO<pi; thetalO+=delta){

60 for(phil0=0.0; phil0<pi; phil0+=delta){

61

62 // 06,0000y 0000y 0000 x000000000°O0CCCOO// x°,y
>, z’0000000

63 for(i=0; i<k[j]; i++)

64 {

65 y21[j][i] = x[j][i]*cos(phil0)+y][j][i]*sin(phil0);

66 x11[j][i] = x[j][i]*sin(phil0)—y[j][i]*cos(phil0); //x>0 O

67 y11[j][i] = y21[j][i]*sin(thetal0)+z[j][i]*cos(thetal); //y>0 0O

68 z11[j][i] = —y21[j][i]*cos(thetal0)+z[j][i]*sin(thetal0); //z>0 0

69 }

70

71 // yyOOOROOODOOODOOODOOODOOODOOO

72 E10 = 0.0;

73 for(i=0; i<k[j]; i++)

74 if(sqre (x11[j][i]+x11[j][i]+2z11[j][i]*z11[j][i]) <= R)

75 E10 += edeplj][i];

76

77 // 000000000000000

78 if(E1<E10)

79

80 E1 = E10;

81 thetal = thetalo;

82 phil = phil0;

83 }
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84
85
86
87
88
89
90
91
92
93
94
95

103
104

106
107
108
109
110

112
113
114

116
117
118
119
120
121
122
123
124

125
126
127
128
129
130
131
132
133
134
135 }

}}
fprintf(fp2, "%f %fL%hEL", EL, thetal, phil);
E2 = 0.0;

for(theta20=0.0; theta20<pi; theta20+=delta){
for(phi20=0.780; phi20<pi; phi20+=delta){

// E10000 Ee2000000000000000O
if(nasukaku(sin(thetal)*cos(phil), sin(thetal)*sin(phil), cos(thetal), sin(theta20)*cos(
phi20), sin(theta20)xsin(phi20), cos(theta20)) >= 2+asin(R/2100.0))

{

for(i=0; i<k[j]; i++)

{
y22[j][i] = x[j][i]+cos(phi20)+y([j][i] xsin(phi20);
x12[j][i] = x[j][i]*sin(phi20)—y]j][i]*cos(phi20);
y12[j][i] = y22[j][i]*sin(theta20)+z[j][i]*cos(theta20);
z12[j][i] = —y22[j][i]*cos(theta20)-+z[j][i]*sin(theta20);

}

E20 = 0.0;

for(i=0; i<k[j]; i++)
if(sqrt(x12[j][i]+x12[j][i]4+z12[j][i]*z12[j][i])) <= R)
E20 += edeplj][il;

if(E2<E20)

E2 = E20;
theta2 = theta20;
phi2 = phi20;

}

}}
fprintf(fp2, "%Ef %EL%hEL", E2, theta2, phi2);

// E1000 200000000000

theta = nasukaku(sin(thetal)*cos(phil), sin(thetal)*sin(phil), cos(thetal), sin(theta2)*cos
(phi2), sin(theta2)=*sin(phi2), cos(theta2));

fprintf(fp2, "%£.", theta);

// 0000MO0O0O0O0O
M2 = 2xE1xE2*(1—cos(theta));
M = sqrt(M2); // 000 24.00000000000
fprintf(fp2, "%f,%f\n", M2, M);
}

fclose(fp2);
return 0;
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A3 0OO0OO0OOO

34300000000 34500 20000000000000000A0
D0000A20000 “le2dat” 0 A200000 “filed.dat” D000
goo

1 #include <stdio.h>
2 #include <math.h>
3 #define EVENT 1000 // 00000

int main()
{
int i, j, K[EVENT];
float pi, R;
float x[EVENT][1000], y[EVENT][1000], z[EVENT]|[1000], edep[EVENT][1000];
10 float ydashl[EVENT][1000], ydash2[EVENT][1000];
11 float x11[EVENT][1000], y11[EVENT][1000], z11[EVENT][1000], y21[EVENT][1000];
12 float x12[EVENT][1000], y12[EVENT][1000], z12[EVENT][1000], y22[EVENT][1000];
135 float E1[EVENT], thetal[EVENT], phil[EVENT], E2[EVENT], theta2[EVENT], phi2
EVENT], theta[EVENT], M2[EVENT], M[EVENT];
14  float suml E[EVENT], suml_Ex[EVENT], suml_Ey[EVENT], suml_Ey2[EVENT],
suml_Exy[EVENT];
15 float sum2 E[EVENT], sum2_Ex[EVENT], sum2_Ey[EVENT], sum2_Ey2[EVENT],
sum2_Exy[EVENT];
16 float suml_Eydash[EVENT], suml_Ez[EVENT], suml_Eydash2[EVENT], sum1_Eydashz[
EVENT];
17 float sum2_Eydash[EVENT], sum2_Ez[EVENT], sum2_Eydash2[EVENT], sum2_Eydashz[
EVENT];
18 float al[EVENT], b1[EVENT], m1[EVENT], n1[EVENT], theta01[EVENT];
19 float a2[EVENT], b2[EVENT], m2[EVENT], n2[EVENT], theta02[EVENT];
20 float x1[EVENT], y1[EVENT], z1[EVENT], r1[EVENT], d1[EVENT], anglel[EVENT;
21 float x2[EVENT], y2[EVENT], z22[EVENT], 12[EVENT], d2[EVENT], angle2[EVENT];
22 float gpoint x10[EVENT], gpoint_yl0[EVENT], gpoint_z10[EVENT], sumedepl0[EVENT];
23 float gpoint_x20[EVENT], gpoint_y20[EVENT], gpoint_z20[EVENT], sumedep20[EVENT];
24 float A11[EVENT], A12[EVENT], A21[EVENT], A22[EVENT], B1[EVENT], B2[EVENT];
25 float x01[EVENT], x02[EVENT], y0O1[EVENT], y02[EVENT], z01[EVENT], z02[EVENT],
r12[EVENT];

© 00 N O Uk

26

27 pi=3.141592; // O0O™

28 R=500;//E1, E200000000000000CO
29

30  FILE xfpl = fopen("file2.dat", "z");

31

32 i=0;

33  j=0;

34

35 while(j < EVENT)

36 {

37 fscanf(fpl, "%ELhE %ELNE", &edep(j]fi], &x[j][i], &yli][i], &z[i][i]);

30



38 i{f((edepﬁ][i]::0~0) && (x[j][i]==0.0) && (y[j][i]==0.0) && (z[j][i]==0.0))

40 k[j] = i;
41 j++;
42 i=0;
43 }

44 else

45 iR
46}

47 fclose(fpl);
48

49  FILE %fp2 = fopen("file3.dat", "z");
50  for(j=0; j<EVENT; j++)

52 fscanf(fp2, "%hE hELhELAERELSELAE KELSE", &EL[j], &thetal[j], &phil[j], &E2[j], &theta2[j
], &phi2[j], &thetalj], &M2[j], &MIj);

53}

54  fclose(fp2);

55

56  for(j=0; j<EVENT; j++)

57 A

58

59 // 0000

60 for(i=0; i<k[j]; i+-+)

61

@ y2[[]) = x[cos(phil[])-+y [ sin(philj)

63 x11[j][i] = x[j][i]*sin(phil[j])—y][j][i]*cos(phil[j]); // x>0 0O

64 y11[j][i] = y21[j][i]*cos(pi/2—thetal[j])+z[j][i]*sin(pi/2—thetal[j]); // y’O O
65 z11[j][i] = —y21[j][i]*sin(pi/2—thetal[j])+z[j][i]*cos(pi/2—thetallj]); // z’0 0
66

67 y22[j][i] = x[j][i]*cos(phi2[j])+y]j][i]*sin(phi2(j]);

68 x12(j]li] = x[j][i]*sin(phi2[j]) —ylj][i]*cos(phi2[j]); // x’00

69 yv12[j][i] = y22[j][i]*cos(pi/2—theta2[j])+z[j][i]*sin(pi/2—theta2[j]); // y>O 0O
70 : z12[j][i] = —y22[j][i]*sin(pi/2—theta2[j])+z[j][i]xcos(pi/2—theta2[j]); // z’0 0
71

72

73 gpoint x10[EVENT] = 0.0;
74 gpoint_y10[EVENT] = 0.0;
75 gpoint z10[EVENT] = 0.0;
76 gpoint x20[EVENT] = 0.0;
77 gpoint_y20[EVENT] = 0.0;
78 gpoint_z20[EVENT] = 0.0;
79 sumedeplO0[EVENT] = 0.0;
80 sumedep20[EVENT] = 0.0;
81

82 suml1_E[j] = 0.0;

83 suml1_Exyl[j] = 0.0;

84 suml_Ex[j] = 0.0;

85 suml_Ey([j] = 0.0;

86 suml_Ey2[j] = 0.0;

87 suml_Eydashz[j] = 0.0;

88 suml_Eydash[j] = 0.0;

89 suml1_Ez[j] = 0.0;

90 suml_Eydash2[j] = 0.0;
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91
92
93
94
95
96
97
98
99
100

102
103
104
105
106
107

109
110
111
112
113
114
115
116
117

118
119
120
121

123
124
125

135
136
137
138
139
140
141

}

sum2_E[j] = 0.0;
sum2_Exyl[j] = 0.0;
sum2_Ex[j] = 0.0;
sum2_Ey(j] = 0.0;
sum2_Ey2[j] = 0.0;
sum2_Eydashz[j] = 0.0;
sum2_Eydash([j] = 0.0;
sum2_Ez[j] = 0.0;
sum?2_Eydash2[j] = 0.0;

for(j=0; j<EVENT; j++)

{

// 000000000000 0O0
for(i=0; i<k[j]; i++)
if(sqrt (xL1[j][i[xx11[j] [ +211[j][i]*z11[j][i])) <= R)
gpoint_x10[j] += edep]j][i]+x[j][i;
gpoint_y10[j] += edep]j][i]*y[j][i];
gpoint_z10[j] += edeplj][i]*z[j][i};
sumedepl0[j] += edeplj][i];

gpoint_x10[j] /= sumedepl0[j]; // 0000O00000O0x0O0O

gpoint_y10[j] /= sumedepl0[j]; // 0000000000y ODO

gpoint z10[j] /= sumedep10[j; // 0000000000z00

d1[j] = sqrt(gpoint_x10[j]*gpoint _x10[j]+gpoint_y10[j]*gpoint_y10[j]+gpoint_z10[j]*
gpoint_z10[j]); // 000000000000 ODO

i
[j

for (i=0; i<k][j]; i-++)
if(sqrt (x11[j] [i]+x11[j][i]+211[j][i]*z11[j][i]) <= R)

suml_E[j] += edep[j][i]; // ZE
suml1_Exylj] += edep[j] [ilxx[j] [il«y[i][i]; // Z Exy
suml1_Ex[j] += edep[j][i]*x[j][i]; // Z Ex
sum1_Ey([j] += edep(j][i]+y[j][i; // Z Ey

} sum1_Ey2[j] += edep[j][iy[j][i}+y[illi}; // = Ey~2

// x-y00000000000000y’:y=ax+b

al[j] = ( suml_E[j] * suml_Exy[j] — suml_Ex[j] *x sum1_Ey[j] ) / ( suml_E[j] * sum1_Ey2][j]
— suml_Ey[j] * suml_Eylj] );

bl[j] = ( suml_Ex[j] * suml_Ey2[j] — suml_Ey[j] * suml_Exy[j]) / ( suml_E[j] * suml_Ey2[
j] — suml_Ey{j] + sumi Ey[j] );

allj] = 1.0/alfj];

b1[j] = —aljl«b1j];

theta01[j] = atan(al[j]);

// yOO yO0000C0O0O0y’=0000’000oooono
for(i=0; i<=k[j]; i++)

ydash1[j][i] = x[j][i] * cos(thetaO01[j]) + (y[j][ij—b1[j]) * sin(thetaO1[j]);
for(i=0; i<=k|[j]; i++)

if(sqrt (x11[j][i]+x11[j][i]+=z11[j][i]*z11[j][]) <= R)

32



142
143
144
145
146
147
148
149
150

152
153
154

155
156
157

158
159
160
161
162
163
164
165
166
167
168
169
170
171
172

173
174
175
176
177
178
179
180
181
182
183
184

186
187

suml_Eydashz[j| += edep][j][i]*xydash1[j][i]*z[j][i]; // Z Ey’z

suml_Eydashl[j] += edeplj][i]*ydashl][j][i]; // Z Ey’

suml_Ez[j] += edeplj][i]*z[j][i]; // £ Ez

suml_Eydash2[j] += edep]j][i]*ydashl][j][i]xydashl[j][i]; // Z Ey’~2
}

// y-zO0O0OOOOOO0OO0OO0OO0DO0OO0OOz=my’+n

mlfj] = ( suml_E[j] * suml_Eydashz[j] — suml_Eydash[j] * sum1_Ez[j] ) / ( suml_E[j] *
suml1_Eydash2[j] — sum1_Eydash[j] * suml_Eydashlj]);

nlfj] = ( suml_Ez[j] * suml_Eydash2[j] — suml_Eydashl[j] * suml_Eydashz[j] ) / ( suml_E[
j] * suml_Eydash2[j] — suml_Eydash[j] * suml_Eydash[j]);

// 0000000CCOOCOOO

x1[j] = —1.0 x (al[j]xbl[j] + m1[j]*nl[j] *( cos(theta01[j]) + al[j]*sin(theta01[j]) ) ) / (1 +
al[j]xal[j] +ml[j]*m1[j] * (cos(thetaO01[j])+al[j]*sin(theta01[j])) * (cos(thetaOl[j]) +
al[j]xsin(theta01[j])) );

y1[i] = alfj] = x1[j] + b1[j];

z1[j] = m1[j]*x1[j]*(cos(theta01[j])+al[j]*sin(theta01[j]))+nl[j];

r1fj] = sart( x1[jj*x1[j] + y1[j]*y1[j] + z1[j]*=1[j] ); // DODOODOOOODOOOOO0ODO
OO00Or

anglel[j] = r1[j]/d1[j];

for(i=0; i<k[j]; i++)
if (sqrt (x12[j] [i]*x12[j][i] +212[j][i]*z12[j][i]) <= R)

gpoint_x20[j] += edep[j][i]*x[j][il;
gpoint_y20[j] += edeplj][i]*y[j][i];
gpoint_z20[j] += edeplj][i]*z[j][i];
sumedep20[j] += edeplj][i];

gpoint _x20[j] /= sumedep20]j];

gpoint_y20[j] /= sumedep20]j];

gpoint_z20[j] /= sumedep20][j];

d2[j] = sqrt(gpoint_x20([j]*gpoint_x20[j]+gpoint_y20[j]*xgpoint_y20[j]+gpoint_z20[j]
gpoint_z20[j]);

for(i=0; i<k[j]; i++)
if(sqrt (x12[j] [i]*=x12[j][i] +z12[j][i]*z12[j][i]) <= R)

sum?_Efj] += edepli]i;
sum2_Exy/[j] += edep][j][i]*x[j][i]*y[j][i];
sum?2_Ex[j] += edep[j][i]*x[][i]
sum2_Ey[j] += edeplj][i]+y[j][i]
! sum2_Ey2[j] += edeplj][i]*y[j][i]*y[][i;

a2[j] = ( sum2_E[j] * sum2_Exy[j] — sum2_Ex[j] * sum2_Ey[j] ) / ( sum2_E[j] * sum2_Ey2[j]
— sum2_Ey[j] * sum2_Ey][j] );

b2[j] = ( sum2_Ex[j] * sum2_Ey2[j] — sum2_Ey[j] * sum2_Exy[j]) / ( sum2_E[j] * sum2_Ey2[
j] — sum2_Ey[j]  sum2_Ey[j] );

a2[j] = 1.0/a2[j};

b2[j] = —a2(j]«b2[j];

)
)

[j
i
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188 theta02[j] = atan(a2[j]);

189

190 for (i=0; i<=k][j]; i++)

191 ydash2[j][i] = x[j][i] * cos(theta02[j]) + (y[j][i]—b2[j]) * sin(theta02[j]);
192

193 for (i=0; i<=k][j]; i++)

194 if(sqrt (x12[j][i]*x12[j][i]+2z12[j] [i]*z12[j][i]) <= R)

195

196 sum2_Eydashz[j] += edeplj][i]xydash2[j][i]*z[j][i];

197 sum2_Eydash|[j] += edep|j][i]*xydash2[j][i];

198 sum?2_Ez[j] += edeplj][i]*z[j][i];

199 sum2_Eydash2[j] += edep[j][i]*ydash2[j][i]xydash2[j][i];
200 }

201

202 m2[j] = ( sum2_E[j] * sum2_Eydashz[j] — sum2_Eydash[j] * sum2_Ez[j] ) / ( sum2_E[j] *
sum2_Eydash2[j| — sum2_Eydash[j] * sum2_Eydashlj]);

203 n2[j] = ( sum2_Ez[j] * sum2_Eydash2[j] — sum2_Eydash[j] * sum2_Eydashz[j] ) / ( sum2_E[
j] * sum2_Eydash2[j] — sum2_Eydash[j] * sum2_Eydash[j]);

204

205 x2[j] = —1.0 * (a2[j]*b2[j] + m2[j]*n2[j] *( cos(theta02[j]) + a2[j]*sin(theta02[j]) ) ) / (1 +
a2[j]*a2[j] +m2[j]*m2[j] * (cos(theta02[j])+a2[j]*sin(theta02[j])) * (cos(theta02[j]) +
a2[j]*xsin(theta02[j])) );

206yl = a2[j * x2(j] + b2[i}

207 z2[j] = m2[j]*x2[j]*(cos(theta02[j])+a2[j]*sin(theta02[j]))+n2]j];

208 12[j) = sart( x2fisx2fi] + y20lev20] + 220220 );

209

210 angle2[j] = r2[j]/d2[j];

211}

212

213 for(j=0; j<EVENT; j++)

214 {

215 A11[j] = 1.0 + al[j]*al[j] + m1[j]*ml[j]*(cos(theta0l[j])+al[j]*sin(theta0l[j]))*(cos(
theta01[j])+al[j]*sin(theta0l[j]));

216 A22[j] = 1.0 + a2[j]*a2[j] + m2[j]*m2[j]*(cos(theta02[j])+a2[j]*sin(theta02][j]))*(cos(
theta02[j])+a2[j]xsin(theta02[j]));

217 A12[j] = — ( 1.0 + al[j]*a2[j] + m1[j]*m2[j]*(cos(theta01[j])+al[j]*sin(theta0l[j]))*(cos(
theta02[j])+a2[j]xsin(theta02[j])) );

218 A21[j] = A12[j);

219 B1[j] = al[j]*(b2[j]—b1[j]) + ml[j]*(n2[j]—nl[j])*(cos(theta0l[j])+al[j]*sin(theta0l[j]));

220 B2[j] = — a2[j]x(b2[j]—b1[j]) — m2[j]*(n2[j]—n1[j])*(cos(theta02[j])+a2[j]*sin(theta02[j]));

221

222 // 00000000000000000

223 x01[j] = (A22[j]*B1[j] — A12[j]«B2[j] ) / ( A11[j]xA22[j] — A12[j]*A21][j] );

224 x02[j] = ((A21[j]«B1[j] — A11[j]«B2[j] ) / ( A12[j]xA21[j] — A11[j]xA22[j] );

225 y01[j] = al[j]*x01[j] + b1[j];

226 y02[j] = a2[j]*x02[j] + b2[j];

227 z01[j] = m1[j]*x01[j]*(cos(theta01[j])+al[j]*sin(theta01[j])) + nl[j];

228 z02[j] = m2[J]*XOQ[j]*(cos(thetaOZ[j])+a2[J}*sm(thetaOZ[j])) + n2fjl;

229 r12[j] = sqrt((x02[j]—x01[j})*(x02[j]—x01[j]) + (y02[j]—y01[i])*(y02[j]—yO1[]]) + (202[j]—
201[j])*(z02[j]—=z01[j])); // 2000000

230

231

232 for(j=0; j<EVENT; j++)
233 printf("%£f\n", anglel[j]);

34



234
235

35



